BENRNARMREIL—MRRRER 3F4R

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE

) E 3 % E 3 % % E 3 % E 3 % E 3 % E 3 %

1 |EERE[ 5] 3

2 [WE/INFERE] 14 28 1 1 1 45

K EATES 7 7 7 1 86

4 [FESH 4 19 1 24

5 [BEE 1 1

6 [MEEERHI 1 1 3 2 7

>~ RERE

1B 1 1 2

8 |H#ED 2 2

9 [H2AREERT 3 3

10 [ILFO

11 |BEEF AR Al

12 [FESfREIERT 2 23 23 4 3 1 12 40 28

13 [fEHIASE DI IERT 2 1 3

14 [FEFE1R 2 1 1 3 1

15 [{EHEERHI 1 1 1 1 1 3 2

18 [/\iB B4 (KA FETO) 17 1 2 19 1

19 [BRETEHI 3 31

20 | BEkAUEERET 2 48

21 | PR Ak 12

22 [{E€AJERT 4 4

23 | RTEFHI 2 1 1 3 4

24 |# A/ EHcET (LU SET) 1 1 4

25 |FiER 1 7

26 (Y TS5HRI 3 68

57 [REEREI[E] 81

#ZERET(SE]

28 |5 mkRRTE] 16

/et | 4] 4] 136 134] 98] 97| 47 44| 8] 7] 14| 14| 317] 310

= 2{#(6:45) 48(7:44) 6{E(11:15) 81%(12:50) 10{#(16:15) 12{%(18:15) INET
i £ [ E 3 % Z % £ 3 3 £ 3 3 £ % £ %
% sl a5
o7 |FAEERAT(#] 1]
fizERE(S] [ 26| [ 1]
26 | YT S5HHI 48 3 20 17 6 91 3
25 |FiERE 1 1
24 [ A/ EHET GLILE R 3 1 4
23 | PR R ERI 2 2
22 |fE & AIERT 3 19
21 |FER SRR ]
20 | BEkAUEERAT 29 2
19 [BERETEHI 26 16
18 [/\iE+EdL (KA FETO) 28
17 |FRACEERD 21
16 |dLBERL S A HBIR A SRR 47
15 [E S bR i 10
14 |[FEFE1X 7 7
13[EEIASEOEEREe | | | 3
12 |FEAREIERI 43 18
11 |BEEF R Al
10 [lLFA 3 2
9 |HAREERI 6
8 |HEO
7 |&E 2 6
T~ Rk
6 [MEEERFI 2 1 11 6 1 19
5 |BEE
4 [RESTH 3 10 4 17
K EINES 20 1 4 18 53
2 | MRE/INEARED 3 4 16 23
WEE6) H H 4H 14H ZSH 14H ZH 59
INET 52 54 110 111 88 91 43 44 45 45 338 345
Hi [ 14 | 14] 188] 188] 208] 208 135 135] 51 | 51 | 59 | 59| 655[ 655
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



RETENARBREIL—HRERER

=E4

21%(6:45)
£ (3

4{%(7:44)
B3 &

61E(11:15)
® 3

8{%#(12:50)

S

(3

S

10{%(16:15)

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE
) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %
HBETAE))] 0 ]
2 |ME/INEARET 16 30 1 47
K EATES 1 93 7 8 109
4 [FESH 2 11 2 15
5 [BEE
6 [MEEERHI 3 2 2 7

>~ RERE
1B 2 1 3 6
8 |H#ED
9 [H2AREERT 2 2
10 [ILFO 1 1
11 |BEEF AR Al
12 [FESfREIERT 4 15 17 4 5 26 19
13 [EHJIASE DR EBXIERT 3 1 1 1 4
14 [FEFE1R 2 2
15 [{EHEERHI 2 1 2 1 6
18 [/\iB B4 (KA FETO) 11 2 11 2
19 [BRETEHI 25
20 | BEkAUEERET 1 74
21 | PR Ak 13
22 [{E€AJERT 3 4
23 | RTEFHI 4 3
24 |# A/ EHcET (LU SET) 1 1
25 |FiER 4 2 8 14
26 (Y TS5HRI 5
o7 |REERAI[#] 1

#ZERET(SE]
28 [ semmili] 23

/Nat | 7] 7] 166 165] 64| 64 49| 49| 2| 2] 8] 8] 306] 305

(3

£

12{%(18:15)

INEE
3 23

3

D3 501 €| 7 7
o7 |FAEERAT(#] |
fizERE(S] [ 1]
26 | YT S5HHI 41 2 35 1 15 4 95 3
25 |FiERE 1 1 1 3
24 [ A/ EHET GLILE R 4 1 5
23 | PR R ERI 2 2 2 2
22 |fE & AIERT 5 15
21 |FER SRR ]
20 | BEkAUEERAT 43 1
19 [BERETEHI 23 15
18 |/\IB#EdL (K FETO) 21
17 |FRACEERD 18
16 |dLBERL S A HBIR A SRR 51
15 {E S EMEFEI 9
14 |[FEFE1X 8
13[EEIASEOEEREe | | | 3
12 |FEAREIERI 25 17
11 |BEEF R Al
10 [lLFA 6 1
9 |HAREERI 4
8 |HEO 6 6
7 |&E 6
7~ T I —
6 [MEEERFI 2 6 1 9
5 [BEE 1 2 3
4 (FETR 6 6 2 14
K EINES 1 19 10 5 23 58
2 | MRE/INEARED 1 2 6 15 24
1 |ERElE] H i1 H wH ]SH SH SH 56
INET 63 64 106 106 78 78 36 36 47 47 330 331
Hi [ 17 | 17] 2291 229 170 170 127 127] 38 | 38 | 55 | 55| 636] 636
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



BENRNARMREIL—MRRRER 3F6H

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE
) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %
1 |EERE[ 5]
2 [WE/INFERE] 14 32 1 1 1 49
K EATES 4 72 9 4 3 5 97
4 [FESH 29 1 1 31
5 [BEE
6 [MEEERHI 1 4 2 7
>~ RERE
1B 1 1
8 |H#ED 1 1
9 [H2AREERT
10 [ILFO 1 1
11 |BEEF AR Al
12 [FESfREIERT 3 24 28 3 1 6 38 27
13 |FEEIASB OBEEXIERT 3 3
14 [FEFE1R 1 1 1 1
15 [{EHEERHI 2 6 1 6 8 7
18 [/\iB B4 (KA FETO) 1 7 2 2 12
19 |B#HREFFSHI 2 18
20 | BEkAUEERET 1 52
21 | PR Ak 16
22 [{E€AJERT 4 3 7
23 | RTEFHI 2 1 2 2 4
24 |# A/ EHcET (LU SET) 2 2 2 3
25 |FiER 3 2
26 (Y TS5HRI 34 5
o7 EBRA (] 0 :
#ZERET(SE] [ 4]
28 [ semmili] 33
/Nat | 8] 18] 155[ 155] 88| 87| 50| 46| 10| 1o 14] 14| 335] 330

EEFL 2{#(6:45) 4{E(7:44) 61F(11:15) 81%(12:50) 10{#(16:15) 12{%(18:15) INET
i £ [ E 3 % Z % £ 3 3 £ 3 3 £ % £ %
% sl a5
o7 |FAEERAT(#] 1]
fizERE(S] [ 9]
26 | YT S5HHI 46 2 42 1 21 1 6 115 4
25 |FiERE 4 1 5
24 [ A/ EHET GLILE R 1 1 4 1 5
23 | PR R ERI 4 3
22 [{E€AJERI 5 15
21 |FER SRR ]
20 | Efk R ERAT 25 2
19 [BERETEHI 15 16
18 |/\IB#EdL (K FETO) 1 26
17 |FRACEERD 18
16 |dLBERL S A HBIR A SRR 50
15 [ SEMEBAEI 3 3
14 |[FEFE1X 1 2 1 3 10
1BlaEsAsEEsEEm| [0 | 2 7
12 |FEAREIERI 41 13
11 |BEEF R Al
10 |IUT™0A 4
9 |HAREERI 3
8 |HEO
7 |&E 8
7~ NERE
6 [MEEERFI 5 11 7 23
5 |BEE 1 1 2
4 [RESTH 5 19 3 1 28
K EANIES 22 8 8 13 51
2 | MRE/INEARED 1 7 10 18
1 |ERElE] H H GH 17H wH GH SH 50
INET 59 59 113 114 76 80 49 49 36 36 333 338
Hi [ 18 | 18] 214] 214 201 201 126 126 ] 59 | 59 | 50 | 50| 668] 668
®TIUREE X A% KB A% XH A% XE A% KB A% XE A% XHE AKG
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



BENRNARMREIL—MRRRER 3F7H

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE
) E 3 % E 3 % % E 3 % E 3 % E 3 % E 3 %
lEAE)) 3
2 [WE/INFERE] 11 27 3 1 3 1 46
K EATES 2 66 4 7 1 80
4 [FESH 20 3 1 23 1
5 [BEE
6 [MEEERHI 1 4 1 4 10
>~ RERE
1B 2 1 1 4
8 |H#ED 2 2
9 [H2AREERT
10 [ILFO
11 |BEEF AR Al
12 [FESfREIERT 1 16 20 3 3 29 1 53 20
13 |FEEIASB OBEEXIERT 3 3
14 [FEFE1R 1 1
15 [{EHEERHI 4 1 1 2 5 3
18 [/\iB B4 (KA FETO) 2 12 1 3 1 18 1
19 [BRETEHI 3 18
20 | BEkAUEERET 46
21 | PR Ak 13
22 [{E€AJERT 1 5
23 | RTEFHI 2 2 3 3 7
24 |# A/ EHcET (LU SET) 2 2 2 2
25 |FiER 1 2 4 1 1 7
26 (Y TS5HRI 17 10 9
o7 |REERAI[#] 15 18
#ZERET(SE] [ 4]
28 [ semmili] 25
/Nat | 4] 4] 132 182] 81| 76] 47| 42| 9| of 39| 39| 322] 312

2L 2{%(6:45) 4{E(7:44) 6{E(11:15) 81%(12:50) 10{%(16:15) 12{%(18:15) INEE

£ [ E 3 % Z % £ 3 3 £ 3 3 £ % £ %
% sl a5
o7 | B RERAI(E]
fizERE(S] [ 29|
26 | YT S5HHI 40 3 29 29 1 11 109 4
25 |FiERE
24 [ A/ EHET GLILE R 4 1 1 1 4 3
23 | PR R ERI 1 6
22 [{E€AJERI 6 20
21 |FER SRR ]
20 | BEkAUEERAT 14 1
19 [BERETEHI 19 15
18 [/\iE+EdL (KA FETO) 26
17 |FRACEERD 19
16 |dLBERL S A HBIR A SRR 44
15 [ S EME DA 4 4
14 |[FEFE1X 10 3 1 4 10
13[EEIASEOEEREe | | | 1
12 |FEAREIERI 26 27
11 |BEEF R Al
10 [ILFO 9 3
9 |HAREERI 2
8 |HEO 1
7 |&E 14
T~ R 1
6 [MEEERFI 29
5 |BEE
4 [RESTH 1 14 3 18
K EINES 18 5 8 7 38
2 | MRE/INEARED 9 7 5 21
WEE6) H H SH ZOH 15H SH SH 49
INET 51 51 105 110 87 92 54 54 32 32 329 339
Hi [ 14 | 14] 183] 183] 186] 186 134 134] 63 | 63 | 71| 71 651 651
®TIUREE X A% KB A% XH A% XE A% KB A% XE A% XHE AKG
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JRAEERFTIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



BENRNARMREIL—MRRRER 3%8H

26 |2 TS5HHI
97 [FRERAT[ %]
#EERAI[$]
28 F““W;-EEH[E]
INET

=E4

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE

) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %

1 |EERE[ 5] 4

2 [WE/INFERE] 2 3 3 2 3 13

K EATES 1 37 11 6 1 1 57

4 [FESH 1 12 6 19

5 52

6 [MEEERHI 1 3 2 3 9

TV Rk

1B 3 3

8 |H#ED 1 1 2

9 [H2AREERT

10 [ILFO 1 1 1 1

11 |BEEF AR Al

12 [FESfREIERT 2 13 18 4 3 20 1 43 18

13 |FEEIASB OBEEXIERT 5 5

14 [FEFE1R

15 [{EHEERHI 3 3 2 3 3 2 8 8

18 [/\iB B4 (KA FETO) 4 1 13 1 2 19 2

19 [BRETEHI 1 1 1 1 2 2 15

20 [E sk £IEERAT 1 12

21 | PR Ak 2

22 [{E€AJERT 7

23 | RTEFHI 7

24 |# A/ EHcET (LU SET) 2

25 | R 2
7
0

(=23 (=]

[ 14]
14
3] 3l ] 7] _70] 69l 46| 44] 1] 11l 24| 241 225] 222

2{%(6:45) 4{E(7:44) 6{E(11:15) 81%(12:50) 10{%(16:15) 12{%(18:15) INEE

S

£ [ E 3 % Z % £ 3 3 £ 3 3 £ % £ %
55 ¢ ATl #] [
o7 |RUEERAT[#] [ [
A EERE( %) | 89|
26 | YT S5HHI 53 1 32 1 21 8 114 2
25 |FiERE 4 1 1 1
24 [ A/ EHET GLILE R 1 1 2 1 3
23 | PR R ERI 5 1 5
22 |fE & AIERT 2 7 20
21 |FER SRR ]
20 | BEkAUEERAT 6 1
19 [BERETEHI 16 16
18 [/\iE+EdL (KA FETO) 29
17 |FRACEERD 13
16 |dLBERL S A HBIR A SRR 19
15 [E S bR i ! !
14 |[FEFE1X 9
13[EEIASEOEEREe | | | 2
12 |FEAREIERI 23 53
11 |BEEF R Al
10 [lLFA 8 2
9 |HAREERI
8 |HEO 2
7 |&E 8
T~ Rk
6 [MEEERFI 21
5 |BEE
4 [RESTH 2 9 4 1 16
K EANIES 24 7 7 1 38
2 |#RE T 4 4 3 11
1 |ERElE] H H H H 13 H H ZH 29
INET 25 25 128 129 78 80 36 36 18 18 285 288
Hi [ 3] 96 | 96| 198 198 124 124] 47 | 47 | 42 | 42 510 510
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7
— OXEOREMN 1 =RELUE. 2=1 mﬁ=)~2(1“éd\)0)ﬁ 3=2 (BN ~3(Z)DRE. 4=3 (&) ~4(FZ)DM. 5=24(FL) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



BENRNARMREIL—MRRRER 3F9A

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE
) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %
HBETAE))] i ]
2 [WE/INFERE] 7 7 3 1 18
K EATES 2 47 12 6 2 69
4 [FESH 1 6 5 12
5 [BEE
6 [MEEERHI 11 2 1 14
>~ RERE
1B 1 1 2
8 |H#ED 1 1
9 [H2AREERT 1 1
10 [ILFO
11 |BEEF AR Al
12 [FESfREIERT 6 10 11 3 3 8 28 13
13 |FEEIASB OBEEXIERT 3 3
14 [FEFE1R 1 1 1 1
15 [{EHEERHI 5 1 1 1 7 1
18 [/\iB B4 (KA FETO) 2 1 17 4 2 21 5
19 |B#HREFFSHI 2 1 4 2 1 5 16
20 | BEkAUEERET 26
21 | PR Ak 9
22 [{E€AJERT 1 9
23 | RTEFHI 1 6
24 |# A/ EHcET (LU SET) 1 3
25 |FiER 1 2 4
26 (Y TS5HRI 19 2 4 59
57 [REEREI[E] 2 39
#ZERET(SE]
% sembeai ] 31
/et | 9] 9] 92 79| 77| 35| 34| 5] 5] of 9] 229] 226

2{%(6:45) 4{E(7:44) 6{E(11:15) 81%(12:50) 10{%(16:15) 12{%(18:15) INEE

=
FERE 2 B 2 B = B = B ® B ® B ¥ B
[ 1]

% sl a5
o7 |FAEERAT(#] 1]
fizERE(S] [ 9]
26 | YT S5HHI 44 3 21 24 5 94 3
25 |FiERE
24 [ A/ EHET GLILE R 2 4 1 1 3 5
23 | PR R ERI 3 5
22 [{E€AJERI 6 20
21 B P ARA I
20 | BEkAUEERAT 17 3
19 [BERETEHI 14 19
18 |/\IB#EdL (K FETO) 1 32
17 |FRACEERD 20
16 |dLBERL S A HBIR A SRR 43
15 |{E HEMEZAI 5
14 |[FEFE1X 7 7
13[EEIASEOEEREe | | | 1
12 |FEAREIERI 24 14
11 |BEEF R Al
10 [lLFA 2 2
9 |HAREERI 3
8 |HEO 1
7 |&E 9
7~ N
6 [MEEERFI 7 27
5 |BEE 1 1
4 [RESTH 7 4 11
K EINES 21 9 17 2 49
2 | MRE/INEARED 5 4 9
1 |ERElE] H H IH 7H QH SH H 25
INET 51 51 99 101 65 66 61 61 16 16 292 295
Hi [ 9] 9 143 143 178] 178] 100[ 100] 66 | 66 | 25 | 25 521 521
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JRAEERFTIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



RETENARBREIL—HRERER 3% 10AH

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE

) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %
lEAE)) 1 ]

2 B /INERET 16 10 1 27

K EATES 4 75 15 7 1 102

4 [FESH 7 9 6 1 23

5 52

6 [MEEERHI 7 4 11

T~ FEE

1B 1 1

8 |H#ED

9 [H2AREERT

10 [ILFO

11 [EE LAl

12 [FESfREIERT 1 15 23 3 1 1 1 26 19
13 |FEEIASB OBEEXIERT 3 3
14 [FEFE1R 1 3 1 3
15 [{EHEERHI 3 3 2 1 1 9 1
18 [/\iB B4 (KA FETO) 1 2 18 2 1 19 5
19 | B EFER 2 23
20 [E sk £IEERAT 1 54
21 | PR Ak 15
22 [{E€AJERT 3 5
23 | RTEFHI 2 1 3 4
24 |# A/ EHcET (LU SET) 1 1 1 1
25 |FiER
26 |2 TS5HHI

» |RERAIE]

RZERAT[R)
28 | Stmleai ] 37
/NEt 21 21| 441 1a1{ 84 81| 50| 49| 3] 3] 3] 3] 302{ 298

2{%(6:45) 4{E(7:44) 6{E(11:15) 81%(12:50) 10{%(16:15) 12{%(18:15) INEE

=E4

£ [ E 3 % Z % £ 3 3 £ 3 3 £ % £ %
% sl a5
o7 |RUEERAT[#] [ 1]
A EERE( %) [ 29 [ 10] [ 110
26 | YT S5HHI 45 1 35 33 1 7 120 2
25 |FiERE
24 [ A/ EHET GLILE R 3 2 2 5 2
23 | PR R ERI 5 5
22 |fE & AIERT 2 19
21 |FER SRR ]
20 | BEkAUEERAT 30 1
19 [BERETEHI 17 24
18 [/\iE+EdL (KA FETO) 31
17 |FRACEERD 25 1
16 |dLBERL S A HBIR A SRR 51
15 |{E HEMEZAI 4
14 |[FEFE1X 12 2 2 12
13[EEIASEOEEREe | | | 1
12 |FEAREIERI 27 21
11 |BEEF R Al
10 |IUT™0A 9
9 |HAREERI
8 |HEO 3
7 |&E 11
7~ N
6 [MEEERFI 32
5 |BEE
4 [RESTH 8 6 14
K EINES 20 13 19 15 67
2 | MRE/INEARED 3 2 8 8 21
1 |ERE] H H H H H 12 H 2 H 37
INET 58 58 100 103 78 79 87 87 33 33 356 360
Hi [ 21 | 199 199 184 184 128 128] 90 | 90 | 36 | 36| 658] 658
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7
— OXEOREMN 1 =RELUE. 2=1 mﬁ=)~2(1“éd\)0)ﬁ 3=2 (BN ~3(Z)DRE. 4=3 (&) ~4(FZ)DM. 5=24(FL) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



AETR R [LAL—HRRRAES 34117
No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE

) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %
HBETAE))] 2

2 [WE/INFERE] 14 18 2 34

K EATES 3 72 7 8 2 92

4 [FESH 5 19 4 28

5 [BEE

6 [MEEERHI 1 15 3 2 21

>~ RERE

1B 4 4

8 |H#ED 2 1 3

9 [H2AREERT 1 1 2

10 [ILFO

11 |BEEF AR Al

12 [FESfREIERT 7 19 16 4 4 1 3 30 24
13 [fEHIASE DI IERT 5 1 6
14 [FEFE1R

15 [{EHEERHI 3 1 3 4 3
18 [/\iB B4 (KA FETO) 1 20 1 2 1 24 1
19 [BRETEHI 1 1 1 2 4 12
20 | BEkAUEERET 1 1 64
21 | PR Ak 17
22 [IE&AXIEHI 3 7
23 | RTEFHI 1 3 1
24 |# A/ EHcET (LU SET) 1 1
25 |FiER 1 1 2 1 3
26 (Y TS5HRI 50 24 81

» |RERAIE]

2{%(6:45)

=
=EmA = i

¥ S bR [ 5]

4{%(7:44)
B3 &
1

11

61E(11:15)
® 3

22

8{%#(12:50)
F

(3

foEEREI3] [ 10|
28 |35 SSmIERTLE]
NE |17 17| 144 144 97 91| 67| 57| 1] 11|

10{%(16:15)
E3

(3

12{%(18:15)

£

INEE

3 3

42
325

13

o7 |FAEERAT(#] 1]
fizERE(S] | 10|
26 | YT S5HHI 36 3 22 15 2 1 75 4
25 |FiERE 1 1 1 1
24 [ A/ EHET GLILE R 1 1 3 2 3
23 | PR R ERI 1 3
22 [{E€AJERI 3 13
21 |FER SRR ]
20 Bk £ EERAT 42
19 [BERETEHI 10 22
18 [/\iE+EdL (KA FETO) 26
17 |FRACEERD 41
16 |dLBERL S A HBIR A SRR 68
15 |{E HEMEZAI 8
14 |[FEFE1X 2 9
13[EEIASEOEEREe | | | 3
12 [FESREERT 31 12
11 |BEEF R Al
10 [lLFA 1
9 |HAREERI
8 |HiED 1 2 4 7
7 |&E 5 2 5 1 13
7~ N
6 [MEEERFI 3 12 4 2 21
5 |BEE
4 [RESTH 2 10 10 22
K EINES 16 1 28 2 57
2 | MRE/INEARED 1 13 4 18
1 |ERElE] H H GH 7H HH ZH 26
INET 78 78 84 90 63 73 83 83 13 13 321 337
Hi [ 17 | 17] 2221 222 181 181 130 130] 94 | 94 | 18 | 18] 662 662
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



RETENARBREIL—HRERER 3%12R

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE

) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %

Y ]

2 [WE/INFERE] 6 1 2 1 9 1

K EATES 77 5 6 1 1 90

4 [FESH 16 6 1 23

5 =8 1 1 2

6 [MEEERHI 5 3 1 9

TV Rk

1B 1 5 1 7

8 |H#ED

9 [H2AREERT 1 1

10 [ILFO 1 2 3

11 [EE LAl

12 [FESfREIERT 4 11 22 8 6 1 7 1 39 21

13 [fEHIASE DI IERT 6 2 8

14 [FEFE1R 1 1 1 1

15 [{EHEERHI 5 2 1 1 8 1

18 [/\iB B4 (KA FETO) 1 22 1 1 24 1

19 | B EFER 2 6 15

20 | BEkAUEERET 59

21 | PR Ak

22 [{E€AJERT 2 3

23 | RTEFHI 2 1

24 |# A/ EHcET (LU SET) 2 2 2 2

25 | R 1 9

26 (Y TS5HRI 20 9

o7 |REERAI[#] 8
#ZERET(SE]

28 |3 SoEIRA B 19

/Nat | [ 2] 112] 81| 78] 67] 66| 15| 15| 10| 10| 285[ 281

2{%(6:45) 4{E(7:44) 6{E(11:15) 81%(12:50) 10{%(16:15) 12{%(18:15) INEE

=
FERE 2 B 2 B = B = B ® B ® B E P
[ 1]

R G0 €]
o7 |RUEERAT[#] [ 1]
£ R3] | 8|
26 | YT S5HHI 48 29 15 4 96
25 |FiERE 3 3
24 [ A/ EHET GLILE R 2 1 1 2
23 | PR R ERI 6
22 |fE & AIERT 5 14
21 |FER SRR ]
20 | BEkAUEERAT 15 4 1 19 1
19 [BERETEHI 8 1 18 20
18 [/\iE+EdL (KA FETO) 16 5 28
17 |FRACEERD 25 6
16 |dLBERL S A HBIR A SRR 57
15 |{E HEMEZAI 1 5 9
14 |[FEFE1X 10 2 12
13[EEIASEOEEREe | | | 1 3
12 |FEAREIERI 12 10 1 3 24 31
11 |BEEF R Al
10 [lLFA 3 5 3 7
9 |HAREERI 1 2
8 |HEO 3 4
7 |&E 2 1 1 1 1 8
7~ N
6 [MEEERFI 17 5 2 38
5 [BEE 1
4 [RESTH 2 11 7 20
K EINES 13 7 13 3 36
2 | MRE/INEARED 4 4 2 10
1 |ERE] H H H H H 12H ZH 23
INET 73 73 114 113 77 82 52 52 19 19 335 339
Hi [ [ 185] 185] 195[ 191 144 148] 67 | 67 | 29 | 29 620 620
®TIUREE X A% KB A% XH A% XE A% KB A% XE A% XHE AKG
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7
— OXEOREMN 1 =RELUE. 2=1 mﬁ=)~2(1“éd\)0)ﬁ 3=2 (BN ~3(Z)DRE. 4=3 (&) ~4(FZ)DM. 5=24(FL) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



RETENARBREIL—HRERER

B4
EERE[52]

3

1/%(6:25)

3{%(7:05)
E 3

5{%(10:30)

3 3 3

(53

W E/NERET

7{%(12:10)

3

9{%#(15:30)
E 3

3

11{%(17:30)
E 3 %

gt

ELH

16 2

FETA

10 4

Ei

W2 EMEHET

F< L NER

A

HEO

Hi 2 RARRT

gy

BEEr L Al

TESBIRER

FEEIASE DT X IER

FEE1R

EEEE AT

J\IEREAL (KSEFETO)

BHRETER

Bk IRERAT

7 80 F 2P AR AT

{EEAERT

R 3 B A

FARNFRET GLILFERAT)

HEE

YU TSYRI

BRERATE]

FUEERAT$]

)

INEH
=E4

2{%(6:45)

3

1 7

4{%(7:44)
B3 &

6fE(11:15)

53 £ 53 £

(3

10{%(16:15)
E3

(3

| [ 120] 120] 65| 65| 30| 30] 18] _ i8]

8{%#(12:50)

124%(18:15)

£ 3

3

INEE

D3 501 €| 1
o7 |RUEERAT[#]
£ R3] | 10|
26 | YT S5HHI 46 1 32 17 3 98 1
25 |FiERE
24 [ A/ EHET GLILE R 2 1 5 7 1
23 | PR R ERI 1 2 8
22 |fE & AIERT 4 10
21 |FER SRR ]
20 aﬁ%ﬁ,ﬁ}iﬂu 15 3
19 [BERETEHI 10 13
18 /\'Ilﬁg:ll:(Xj'z#lﬂTD) 2 25
17 |FRACEERD 25
16 |dLBERL S A HBIR A SRR 56
15 [ SEMEBAEI 5 8
14 |[FEFE1X 7 1 1 8
13[EEIASEOEEREe | | | 1
12 |FEAREIERI 11 28
11 |BEEF R Al
10 [lLFA 4 7
9 [HKEERT 1
8 |HEO 1
7 |&E 2
7~ N
6 [MEEERFI 2 28
5 |BEE
4 [RESTH 2 6 9 17
K EINES 16 10 9 1 36
2 | MRE/INEARED 2 2 5
W) H H H H 4 H 5 H H 13
INET 63 63 86 86 66 66 39 39 19 19 273 273
Hi [ [ 192] 192 151 151 96 | 96 | 57 | 57 | 26 | 26| 522 522
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~
5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



BENRNARMREIL—MRRRER 3F4R~4F1A

No Em 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE
) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %
1 |EERE[ 5] 1
2 [WE/INFERE] 94 173 13 8 13 1 2 303 1
K EATES 17 685 93 61 12 9 877
4 |[FETH 20 151 38 1 1 2 212 1
5 =8 1 1 1 3
6 [MEEERHI 1 3 58 24 5 16 107

T~ N
1Bk 33
8 |H#ED 10 2
9 [H2AREERT 12
10 [ILFO 2 8
11 [EE LAl
12 [FESfREIERT 347 204
13 [fEFJIASE DT E R ERT 6 1 40
14 [FEFE1R 1 11 7
15 [{EHEERHI 39 5 72 32
18 [/\iB B4 (KA FETO) 13 5 152 13 15 1 4 184 19
19 [BHRETEHI 5 33 190
20 [E sk £IEERAT 8 488
21 | FEER PR 97
22 [IE&AXIEHI 20 58
23 | RZEFHI 27 41
24 |# A/ EHcET (LU SET) 6 8 1 5 2 4 9 24
25 |FiER 9 18 10 41 9 72
26 (Y TS5HRI 4 665
57 [REEREI[E] 49 640

#ZERET(SE]
28 |5 mkRRTE] | 269 | 269

/et | 113 113] 1278 ] 1275] 807 785[ 488] 461| 92| of | 133] 133] 2911 2858

2{%(6:45) 4{E(7:44) 6{E(11:15) 81%(12:50) 10{%(16:15) 12{%(18:15) INEE

=E4

£ [ E 3 % Z % £ 3 3 £ 3 3 £ % £ %
PR €] | 26|
”7 @ﬁ%ﬁﬂu[%] 9]
PR IIC)) [ 90|
26 | YT S5HHI 56 1007 26
25 |FiERE 18 2
24 | R ARNERFT (SLILERET) 24 33
23 | RZEFRT 21 45
22 |E&AJERT 461 165
21 |FER SRR ]
20 | BEkAUEERAT 240 15
19 [BERETEHI 168 176
18 |/\IB#EdL (K FETO) 9 272
17 |FRACEERD 225 7
16 |6 BERS 3 A8 70 B 5 KPR AT 486
15 [{EHEEBHI 13 61
14 |[FEFE1X 10 92
1BlaEsAsEEsEE| [0 | 25
12 |FEAREIERI 275 234
11 |BEEFfRL Al
10 IO 49 24
9 |HAREERI 16 5 21
8 |HiED 4 5 14 2 25
71 |&E 25 20 37 1 3 1 85
7~ PR I 1 1
6 [MEEERFI 64 1 104 65 14 1 247
5 |BEE 1 1 3 2 7
4 [RESTH 23 100 52 2 177
K EITES 1 189 91 118 84 1 483
2 | MRE/INEARED 6 25 60 69 160
1 |ERElE] H H H HGH HQH H ZSH 367
INET 573 576 | 1045 [ 1063 756 787 540 541 278 278 | 3192 [ 3245
Hi [ 113[ 113] 1851 ] 1851 | 1852 1848 | 1244 1248 632 632 411 411] 6103] 6103
T IURES RAT A% KR A% ORRY A% XE) A% ORI A% XA A% KB AKG
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGEERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BERETE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7
— OXEOREM 1 =RELUE. 2=1 Eﬁ)~2(*‘éd\)0)ﬁ 3=2 (BN ~3(Z)DRE. 4=3 (&) ~4(FZ)DE. 6=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



